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Instructions 2
e Use blue or black ink or ball-point pen. 3
o Fill in the boxes at the top of this page.

o Answer all questions. 4
o Answer the questions in the spaces provided.
[ ]

All workings must be shown and clearly labelled; otherwise marks for Total (Column 1) |_>
method may be lost.

o Make and state any necessary assumptions. Total (Column 2) ——=
e Do al rough work in this book. Cross through any work you do not , :
Quiality of Written
want marked. Communication
Information TOTAL

e The maximum mark for this paper is 80.

4 of these marks are for the Quality of Written Communication.

e The marks for questions are shown in brackets.

e You are reminded of the need for good English and clear presentation
in your answers. Some questions involve only numerical work; all
other questions should be answered in continuous prose. Quality of
Written Communication will be assessed in al prose answers.
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Answer all questions in the spaces provided.
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Total for this question: 16 marks

2 A trainee accountant produced a draft profit and loss account which showed a net profit
for the year ended 31 March 2006 of £17 690. Her supervisor subsequently discovered
the following errors.

(1) The purchases day book had been undercast by £520.

(2) The cost of repairsto adelivery van of £450 had been debited to the motor vehicles
account.

(3) A payment of £500 for insurance had been completely omitted from the accounts.

(4) A cheque for £2300 received from B Harrison, a debtor, had been credited to the
account of B Harris.

(5) Discount received of £1300 had been charged as an expense in the profit and loss
account.

(6) The closing stock had been recorded in the trading account as £3000. The correct
figure was £300.

REQUIRED

(@ Calculate the correct net profit. Show clearly whether each adjustment is added,
subtracted or has no effect on the profit calculation.

Correction (1) has been completed as an example.

Corrected net profit for the year ended 31 March 2006

Net profit as given 17£690

(1) Purchases undercast subtract 520

17 170
(2) ettt E bR £ AR e R bRt e e bbbttt b et
) S
TSRS
65 ISR
(5 SRS SR PP U PT
COrreCted NEL PrOFIT ......eieeeeieeee ettt e e sene s
(7 marks)

G/J150681/Jun06/ACC1



(b) Explain the difference between an error of commission and an error of principle.

(c) Evauate the extent to which the use of computer accounting software can eliminate
bookkeeping errors.

Turn over »
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Total for this question: 9 marks

Aston Suppliers offers both trade and cash discounts to customers.

REQUIRED
(@) Explain the following terms.

B0 SX o 1S 010 | 0| AR
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Aston Suppliers recently supplied goods to a customer on the following terms.
Price of goods before all discounts and VAT £2500
Trade discount agreed 20%
Cash discount offered 2%
VAT 17.5%
REQUIRED

(b) Calculate the total amount of the invoice, including VAT, for these goods, showing al
your workings.

INVOICE IOl £ ...

LAY o SR

Turn over for the next question
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Total for this question: 9 marks

4 The following information relating to the month of May 2006 has been extracted from the
subsidiary books of W G Shrubb on 31 May 2006.
£

Sales day book 43 500

Purchases day book 28 900

Returns inwards day book 625

Returns outwards day book 1340

Discounts allowed 425

Discounts received 780

Payments received from credit customers 35 600

Payments made to credit suppliers 17 680
The general journal also showed that on 15 May 2006, a debit balance of £560 in the
sales ledger was set off against a credit balance in the purchases ledger (contra entry).
At 1 May 2006, there was a debit balance on the sales ledger control account of £12 560.

REQUIRED

(@ Prepare the sales ledger control account for the month of May 2006. Bring down the
balance at 1 June 2006.

Sales L edger Control Account

Dr Cr
Date . Date .
2006 Details £ 2006 Details £

(7 marks)
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On 31 May 2006, the total of the balances extracted from the sales ledger was £17 640.

REQUIRED
(b) Explain one benefit of using control accounts.

Turn over for the next question
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Total for this question: 22 marks

The following is the trial balance of P Pann at 31 December 2005.

Wages and salaries
Purchases and sales
Carriage outwards
Returns

Motor vehicle
Trade debtors
Discounts

Stock at 1 January 2005
Trade creditors
Carriage inwards
Bank overdraft
VAT

Capital

Additional infor mation

At 31 December 2005, the closing stock was valued at £12 500.

Dr
£

29 000
65 000
3 000
2 000
38 250
25000
2 000
22 000

2500

188 750

125 000

4 000

5000

8 000

4 500
2250
40 000

188 750
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REQUIRED
(@) Prepare the trading and profit and loss account for P Pann for the year ended
31 December 2005.

P Pann
Trading and Profit and L oss Account for the year ended 31 December 2005

(13 marks)

Question 5 continues on the next page
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(b) Explain two differences between fixed assets and current assets. Give one example
of each.
DL = = 1o USSP
(2 marks)
DL = = 10 USSP
(2 marks)
Example Of @fiXed SSEL .......ccoiiiiee e e
(1 mark)
EXample Of @ CUIMENE @SSEL .......ccooiiieie e e
(1 mark)
(c) Explainthe term long-term liabilities. Give one example.
(o] = o o PSR
(2 marks)
EXBIMPIE ..o ettt e e
(1 mark)
22
END OF QUESTIONS
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